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1) on the graph

2) (-1) = -1(4) + b
b=3

3) Y = -X + 3, X + Y = 3

5 - 2 3 3
4) -- = - = - - (see graph)

-4 -1 -5 5

5) (see graph) (2) = -3/5(1) + b, b = 2 3/5

6) Y = -3/5 X + 2 3/5, 3X + 5Y = 13
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7) on the graph (slope must be -1)

8) (3)=-1(-2)+b, b=l
Y = -X + 1, X + Y = 1

9) on the graph (slope must be -1/4)

10) (3) = -1/4(-1) + b, b = 2 3/4
Y=-1/4X+23/4, X+4Y=11

11) (-1)(2)(-3)(4)(-5)2=_{ -I - (- X)]}
(-2)(-12)(25) = X, (24)(25) = X, X = 600

12) (72A - 84A = 36AF) -i- 12A
6-7=3F, F=-1/3

13) 10(-4.20) -10(1.8Q) = 10(-6)
-420 -180 =-60, Q= 1

14) 1000(.14) -1000(.023) = 1000(.07C)
140 - 23 = 70C, 1 47170 = C

15) 2 2 +5 =.4 =40%
5

16) 3
3 +5=.6 =60%5

17) .4 x 500 = 200 g

18) 500 - 200 = 300 g

19) 5,280 x 4.5 = 23,760 ft.

20) 1 yd. = 3 fl. 5,280.;. 3 = 1,760 yds.

12A

1) Y=1/3X+3 see graph Y

2) solid

3) (0,0) 3(0) s (0) + 9, 0 s 9 true
(0,4) 3(4)s(0)+9,12s9 false

(You may choose any points you wish as long as riP"''!'!' I . 1'1 1.lll"I ••.lx
they are on opposite sides of the line)

4) see graph

Y
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5) Y = -1/2 X - 2 see graph

6) dotted

7) (0,0) 2(0) > -(0) - 4, 0 > -4 true 1-41' 1"1" I III I I I 1•• 1x
(0, -3) 2(-3) > -(0) - 4, -6>-4 false

8) see graph

9) Y = -3X + 1 see graph
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10) solid

11) (0,0) 3(0)+(0)~1, 0,,1 false
(0, 2) 3(0) + (2) " 1, 2" 1 true

12) see graph

13) Y>·X-2

14) -2Y < ·4X + 6 enY>2X-3 Q.
S.
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m
....•.
ro»



11) WF x 60 = 1, WF = 1/60
11) WF x 16 = 1, WF = 1/16 12) WF x7 = 1, WF=1/7z.14=14%
12) WF x 2000 = 1, WF = 1/2000 13) _1_ =~ (1)(X) = (.45)(10), X = 4.5 kg
13) -2Y = -3X + 5, Y=3/2X-5/2 .45 X

13) Y <3X - 5 I 14) slope = 3/2 Lf 14) .~5 = + (1)(2) = (.45)(X), X = 4 4/9 Ibs.
15) slope=-yJ ~~ - ~

15) Y=2/3X+ 112, m=2/3
I 16) Y intercept is -2, Y = 2X - 2 or 2X - Y = 2 (f)14) -Y>-3X+5

Q.Y <3X- 5
17) .16 x 242 = 38.72 16) slope = -3/2 S.

17) (1) = -1/2(1) + b, b = 3/2 618) quadrant 3 :JY=-1/2X+3/2 or X+2Y=3 C/I
15) multiplying or dividing by a negative number I 19) _1_ = ..!.2. ? = 16 km ~(?)(1) = (1.6)(10), 18) 9.;. 25 = .36 = 36% I\)1.6 ? OJ

1 ? 19) 6N - 5N + 8
20) "1.6 = 10 (1)(10) = (1.6)(?), ? = 6.25 mi.

20) 6(10) - 5(10) + 8 = 60 - 50 + 8 = 18 I\)
0
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1) Y = 2X - 3 see graph Y

2) solid
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3) (0, 0) -2(0) + (0) ,; -3, 0 ,; -3 false
(3, 0) -2(3) + (0) s -3, -6,; -3 true

(You may choose any points you wish as long as
they are on opposite sides of the line)

4) see graph

Y

5) Y = 2/3 X - 3 see graph
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6) solid

7) (0, 0) 3(0),; 2(0) - 9, 0,; -9 false
(0,-4) 3(-4)';2(0)-9, -12,;-9 true

8) see graph

Y

9) Y = 1/5 X + 1 see graph

10) dotted

11) (0,0) -(0) + 5(0) > 5, 5> 5 false
(0, 2) -(0) + 5(2) > 5, 10 > 5 true

,'- f , I , , , , ,•.,X..
12) see graph

X

X

12C

1) on the graph

2) dotted
For next step, change .y > -2X - 1 to Y < 2X + 1

3) (0, 0) (0) < 2(0) + 1, 0 < 1 true
(0, 2) (2) < 2(0) + 1, 2 < 1 false

4) on the graph
5) yes (determine by plotting on graph or

substituting values in inequality)
~

6) on the graph
7) solid

8) (0, 0) (0) ,; (0) - 3, 0 s -3 false
(4,0) (0) s (4) - 3, 0 ,; 1 true

9) on the graph

10) multiplying or dividing by a negative number
i i I i I I 1 I I I I I I

120

1) on the graph (Y = -2)

2) dotted

3) (0, 0) (0) + 2 < 0, 2 <° false
(0, -3) (-3) + 2 <0, -1 < ° true

4) on the graph

5) 4Y < -8, Y < -2

1"'1'1 I I I l I I I I I_Ix
II J I I. II III I I J-~

6) on the graph (Y = 1/3 X + 2)

7) dotted

8) (0,0) (0)-3>1/3(0)-1, -3>-1 false
(0, 3) (3) - 3 > 1/3(0) - 1, 0 > -1 true

9) on the graph

10) Y < 2X-1
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12E

1) on the graph 10) multiplying or dividing by a negative
number

Y

2) solid

3) (0, 0) (0):;; 2(0) + 3, 0:;; 3 true
(-3, 0) (0) s 2(-3) + 3, 0 s -3 false

4) on the graph

5) yes 11) WF x 8 = 1, WF = 1/8

12) WFx4=1, WF=1/4=.25=25%

Y

13) _1_ = 4qt.
.95 X

(1)(X) = (.95)(4), X = 3.8 liters

X
14) -' =~

.95 1

(1)(1) = (.95)(X), X=11/19literor
1.05 liter (rounded)

15) Y=2X+32, m=2

6) on the graph 16) m= -1/2

7) solid

17) (-4) = 3(-3) + b, b = 5
Y = 3X + 5 or 3X - Y = -5

18) 12.;. 17 = .705... = .71 (rounded) = 71%

8) (0, 0) (0) «4 false
(6, 0) (6) « 4 true

19) .17 x 425 = 72.25

9) on the graph 20) quadrant 4

13A

1) on the graph

2) on the graph

3) (1,2)

4) on the graph

5) on the graph

6) (3, -4)

7) on the graph

8) on the graph

9) (-3,2)

10) on the graph

11) on the graph

12) (3,1)

13) on the graph

14) on the graph

15) (1, 1)

16) on the graph

17) on the graph

18) (-1, -3)
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